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REASONING |

Drections [1 - 5) : Read the (ol
lowing statements and answer the
questions that folbow :

O the six men of literature A, B,
C, 0, E and F being considered here,
two belonged (o the 17h century, thres
Lo the 19th and one (o the 200h. Four
were reoogndsed s greal poets, three
ns greal novelists and three ns great
dramalisis. One contributed (o Benga-
1 Hierature, two o Hindi, two to Mar-
athi and ore (o Tamdl. The 200h centu
ry writer wrote poetlry only and con-
tribmated to Marathd lterature and Use
ulher Marathl writer contributed 1o po
etry. novel and drama. One Hindi wril-
er arwl the onby Tamll writer belonged
to the 189th cenjury. The former con-
tributed to poctry and novel whike the
Latter Lo novel and drama. The Bengall
writer belonged to the 1 7t century and
contributed 10 poctry onby. A belonged
o the 20th century. B wrote drama
only, Ccontgbuled to Marathi libera
ture, 0w inchl poet and novelist
amd hrlnnﬂj: the 19th cenlury, E
also belonged Lo the 19th century, and
F contribusted Lo poetry anly.

1. Towhich language did B contrib-
uitle

(1) Bengali (2) Hendi

() Maratid 4] Toumll

2. Among Uhese, who was the Tamil

writer 7

[na e

3 E 4 F

3. Towhich briench of e e did

Acontribute 7

{1} Poetry 120 Mowvel

13 Drama [4) Al the three

4. among these who was the Ben
gali writer?

A 21 B

HE 1 F

8. Towhich branch of llbemiure did

C contribute

(1] Poetry

(= Mensel

(2] Dirsuma
(4] Adl the three

Drections (6= 10] : An anange-
ment machineg, when ghven an npod e
of numbers, resuranges them follow-
ing & particular rule in each step. The
lallowing ks the ilustration of the ingut
and ihe steps of arrangement :
Inpad. @ 37, 29, 17, 51, 46, 22, 71,
33
Hi B
33
S A
33
T
33
Tl
33
7L
33
7l.
22
Since the numbers are already ar-
ranged, the machine stops alter this
step. Otherwise the machine may car-
v on is logic untl] the numbers gel
ally arranged, Study the logic and an-
swer the questions that follow :
G, Imput : |9, 59, 23, 36, 60, 75, 71
What will be the 3rd step 7
(1) 71, 59, 23, 36, 60, 75, 19
12) 71, 18, 59, 346, 60, 75 33
13 71, 54, TH, 3G, 60, 22, 19
(4) 71. 59, 60, 75, 23, 36, 19
. Input : 81, B%, T2, 43, 68, 28, 80
Which ol Lhe following will be the
last slep ¥
(1) 85, @0, 43, T2, 81, 69, 28
(2] o, &9, T2, Bl, 43, 69, 28
(3) 90, BD, Bl, T2, 606, 43, 28
(4] =0, 81, BO. 69, 43, T2, 28
Input : 28, 63, 85, 58, 57, 42, 40
How many steps will it take to
arrange the above Inpul 7
(1] Twa 12} Three
(%] Fioaar 4] Five
8. The step two of an input is as
feallows :
54, 27. 49, 36 63, 17
Which of the following would del-
inltely be the first step 7

Step 1 29, 17, 51, 46, 22, 37,

Step Il 37. 17, B1. 46, 22, 29,

Sitep I a7, 29, 51, 46, 22, 17,

Step IV 37, 29, 48, 51, 22, I7,

Step V : a7. 20, 48, 51, 17, 22,

Step Vi 37, 20, 48, 51, 17, 33.

—Life Insurance Corporations
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(1) 27. 45, 54, 36, 63. 17
12) 17, B3, 45, 36, 27, 54
13) 54. 17, 45, 36. 63, 27
4] Can't be determdned
10. Imput : 7, 17, 27, 3747, 57 687
Which of the following will be the
last two lerms of Step IV 7
(1) 57. 27 [ 27, 7
3177 L3 67, 7
Directlons (11 - 15) : Exacily
seven persons A, B, C. D, E. Fand G
participate in and Andsh all of a serics
ol | km races. There are no Ues (or
any pesition at the nish of any of the
TAcTs.
G phemys Nndshes somewhene ahead
of A
A always finishes somewhere ahead
ul B
Eilther C Ninkshes first and E [Anishes
last, or D finishes Aral and F or
B linishes last.
If in & race C finishes second and
B Mnishes fifth, which of the ol
lowing MUST be TRUE *
(1) G fimishes fourth
12) F finishes sixth
13 E finkshes skxth
4] D Anishes fourih
If i & race G fndshes Afth, which
of the following MUST be TRUE ?
[1] B finishes (ourth
12} D finishes first
I3 C finishes second
(4] E finishes third
If in a race D finishes second,
which of the lollowing CAN bxe
TRUE ?
[1] A finishes belare C
[2) E linishes before B
13 A Minishes belore G
4] F finishes before G
i4. If in & race D fAnishes sixih and
B MAndshed ffth, which of the fol-
lowing CAN be TRUE 7
1) F finishes third or fourth
12} G finishes (irst or fourth
131 E Anlshes fourih or ik
4} € finishes second or thind
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15. Ifin a race C finishes first, G can
findsh o lower than
[} Secand [ Third
3 Fourth [4) Fifth
Drections [16-20) : In each of
Lhese questions. there s a word writ-
ten in capital letters, with one leiter
umclerlined. For each letter in that word
there ks 0 code written in small letters.
That code is denoted by either 1, 2, 3
or 4 it in the same order. For each
guestion, you have Lo ind oul the ex-
act cotbe for the underlined better in
the word. The number of that code s
the answer Lo thal question. Please nole
that the same ketter appearing in other
ward (5] may be coded differently.
16, A

(1} b 12) de

(3 gh [4) vz
17. GUST

(10 P 2} hs

(31 v [4) 6
18. PRIM

1N [}

(3] m [4] @
18. RIFT

(e [21q

[EIRH mr
20, TOAWN

(s i3 q

3 p 14l r

Directions (21-23) : In each of
the following questions, there 18 & cer-
tadn relationship Belween bvo given
words on one side of o and one word
I= given on another side af : : while
another ward is to b [ound from the
given allernatives. having the same
relation with this word as the words of
the given pair bear, Choose the cor- |
rect alternative |

21 Nbteracy : Educatbon : : Flood : 7

(1) Bridge (2} Drarmy
[H River [4) Rain

22, Water : Cormvection - : Space : 7
[1) Conduction
[2] Transference
[ Vaciiasi
[4) Raselimnidoa

23, Skirmish : War : : Mscase : 7
(1] Medicine [ Patient
i3 Epidemic (4] Infection

24, Engineer is related to Machine in
Lhe same way as Doclor s relat-
od Lo
(1] Baody (2] Medicine
15 Disise 4] Hospital

28, Select the pair of words that has
same rebatbonship as the original
pair of words.

Pedant : Erudition

1) Blant : Palitician

(2} Diplomat : Taciless

13 Enemy : Friendly

14} Prude : Modesty

Directlions (26 = 30 : [n the [l
lowing questions, the symbols +, -, %,
+ and = are used with the following
meanings :

A+ B means A & greater than B.

A - B means A ks either greater |
than or equal 1w B.

A x B means A s equal to B

A+ B means A is smaller than B,

A= B means A is either smaller
than or equal to B

For each question, you have to
assme ghven statements 1o be trae and
then decide which of the two glven
conclusionis) 1s/are definitely true,
Give answer :
(1) 1f only conclusion | is true
|2} If only conchaskon [1 is true
[3) If either conchasion [ or 0l |5

Lruse
[4) | nedther | nor 10 s true.
Statements :
P-Q.ReS5 P+T.Q+R
Concluslons: [. P= R
I T+Q

27. Statements :
FxG,E+G, L+F, H=R
Conclusions: 1. L+ K
N G=xR
Statements
M=-MNZ+Y.TaN.¥Y=T

Concluslons: 1. T+ M
. MxT
29, Statements
ExG.D+F.HsED+G
Concluslons: 1. H=G
. E=F
30, Statements :
U+ V.W-Y. W+F.¥xlU
Conclosions: [. W+ L)
Il. F+¥ |
31, Three of the lollowing four groups |

of letlers are alike in some way
whille one is different. Find ot
which one is dilferent. @
(1] EJNO (2] HMQR

3] KFSL [4) NSWX

2. Three of the follwing [owr ane
alike In & certain way and hence
farm a group. Which is the one
that does not belong to that group?
[1} GASWORKS : DXROWSNY
[2) KNIGHTLY : HKTHGIPC

[3 OUTHOUSE : LEUOHTWI
(4} MARTYRED : JXRYTRIH
Find the missing clement in the
serics ghven below -

30, e SN0, THA, THG

i) x28 [2) 226

i3 128 (4] 75

If the firsi three letters of English
alphabet are reversed and so on
..... and the last two letters are
reversecl. then which Better will
e 19ih letter to the right of 17th
letter Lo the left of Sth better from

right ?
nw @v
(KR [E 1

Number of letters skipped in be-
iween ndjacent betlers in the se-
ries decreases by one, which al
the following series observes this

rule 7
(1] DEYPU 2] DBPUY
3] DBUYP 4] GBYUF

Drectlons |36 - 40) : Below are
given three statements a, b and e fol-
lowed by four conclusions. You have
to take the given statements (o be true
even il they appear at variance with
commonly known fcts and then de

| elde which of the conclusions logically

lodloruss) from the given stalements, For
each question, nark oul an appropri-
ate answer cholce that you think is
ocorrect.

3. Statements :
{a] Some men are bocks.
1) All schools are boats,
[£) Mo books are schosls
Concluslons :
. Some men are 0ol schools.
Ii. Some bools are nal banis.
111. Some men are nol boats.
IV. Some boals are nod boolks.
(811 ancd 1% Follow
(2] 11 ] 1V Tollosar
{3 1 anc 11 follow
) 11 and 1 follow
Statements :
8] Some chairs ane cups.
(b} All cuips ane roads.
Icl Some roads ane (nins.
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Conclusions |

I. Somechairs are trains.

Il. Some cups are trains.

I11. Some tralng are cups.

I¥. Some roads are chairs.

{1 L, 1E and 101 folkow

12) IF and [T follow

13 1 and IV follow

14} Cmly IV lollow

Statemants :

[a] Mo men are boys.

bl No women are girls,

Il All boys are women.

Conclusions :

1. Some men are nol womsn.

1. Some woren ire nol men.

111, Mo boys are girls.

V. Some women are men

(13 Cnly 1 and I follow

12} Only 1T and 111 follow

13} Either 1l or IV follows

(4} Cenly 11 and 1V follow

Statements

(&) Mo kite is a slate,

(bl Mo jug 1s a slate.

(c) Some jugs are ropes.

Conclusions :

. Some ropes are alates.

Il. Some ropes are not slates.

1. Mo kite 1= a jug.

I¥. Bome jugs are kites.

(1) Either 1! or 1l follows

(2} Either 1 or Il and IV follow

13) Efther Iil or [V and 11 fellow

{4} Either | or Il and either I ar
I fallow

Statementa !

{a) All banks are shops.

[bd All markets are shops.

el All markets are rools,

Conclusions :

I. Some rools are shops.

1l Some banks are rocls,

I11. Same banks are markets,

IV, Some markels are not roofs.

(1) Only [ Follows

[2) Gnly I follows

13 Omby 1D follows

[4) Either 11 or 11F follows

ENGLISH LANGUAGE

Directlons (41 - 44) : Choose the
word which is oppositle in meaning to
the given waord.

41. Exorbitant
{1] barbaric
13) coumterfeit
43, Humane

1] erueel

13} chesriul
#3. Obaoletes

(1) heated

13 renovated
#4. Suppeess

(1] stirmukate (2] lengthen

(¥ abandon  (4) smother

Directions [45 - 47) : In the
Tollowing sentences replace the words
printed in bold with the appropriate

Iram the given altemathees.
& always prominent n a
| because of his height.

(1) stands ot [2) looks oul
13) stands up  [4] books up

48, The rebels offered resdstance o
almost o month.

(1) held over (2] held up
13) held out 4] held in

47. He generally overlooked the
faults af his subordinates.
| H passed outl  [2] passed by
{3} passed through
{4) passed over
Directions (48 - 51) 1 Fill in the

blanks with the most appropriate
words.

48. While n great deal of changs and
modernisation has tiken place in
India since 1947, the basic
values and (amily roles have been
generally ______

(1) overiurned (2] stabbe

(3 modified () appropriate

It weuld be difficull for one so
— to e led Lo believe that all
meen are equal and that we maust
disregarnd race, colour and creed,
(1) ermotional  (2) democratlc
(3} intoderant  |4) obaolete

The linguistic ____ of refuges
children is reflecied in their
readiness Lo adopt Use language
of their new homeland,

[1) conmervalisen

[2) inadeqaacy

[ adaptability [4) structure

[2) lfamished
(4] moderate

[2) proud
[4) tranguil

[2) desolate
[4) automatic

Bl. Reni control restrictions on smuall
apartment owners  may
wrlortunately __ rather than
alleviate the housing problem
(1] resaive [2) climninish
[3) castigate  [4) aggravale
Directions (52 - 36) : In the

following questions the warnd at the top
is used in four different ways. Choose
the aption in which the usage of the
word s Incorrect or inappropriate.

B2, Courl
[1) He hais been courting.Jane for

six months

[2] He has difficulty in couning
his leelings into words.

[3] The prisoner was brought to
court for trial.

[4] The tennis match will take
place on the grass court.

Expenss

(1} Mest children in India are
educated ot public expense.

(2] We had a good laugh at his
EXpEnSEe.

(3} He became a gosd scholar,
but andy at the expense of his
health.

[4) A man of your expense should
do well in life.

Deermnamd

[1} The policemnan demanded his
name and address,

(2] He came to my house and
demanded help.

[ How would you demand that
thie world is round 7

(4] The worker's demands wers
refused by the employer.

Master

i1l She could not master Lthe
courage Lo tell her (riend
about her lods.

(2 She quickhy mastered the an
of interviewing people.

[ The terrorisl was & master of
disguise.

(4] He i the master of his house.

Mrections (36 - 58) : Each

queestion below consists ol a related pair
of words followed by fowr pairs of
words. Select the pair that best
expresses Uhe relationship similar Lo the
original pedr.

58, Cobbler : alvoes © ¢
{1) Mechanic, automohile
[2) Canpenter : saw
3] Painer : exsel
(4} Inlerragator : gquestion
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87. Museum : exhibit : :
1) Sculptor : status
{2) Prizon : cell
13 Painting : frame
{4} Theatre : performnnce
Gradn : sllo
11} Seed : plant
(2] Water : bucket
(3 Drugglst : doctor
(4) Furlong : mile
., Doctor : discase
(1) Moron : imbecility
[2) Pacdiatriclan : sendlity
[3] Broker : stocks
[4] Paychiatrist : maladjustiment
MMrections (B0-82) : Fill in the
blanks with appropriate alternative.
B80. Thess weakneases could
i you tried hard to improve your
slandard.
11} evercome
2] evercame
{3 be overcome
{4) have been overcome
the Umely help the pa-
tlent would have died.
(1) Inspite of (2] Because of
[3) Buit for (4] Even afier
The topic that we were discuss-
ing now was first raised by our
boas, 7
[2] wasn't it [2¥ st it
[ was it
[4] hasn't it been
Mrectlions [B3-88] : In the fol-
bowing questions choose the altermative
which best expresses the meining af
the given word. @
83. Fasticious
1) doubiful
13 hesitant
B84. Emancipats
1) pass
13) free
63, Hamper
(1) open
(3 notice
88, Despleable
[1) undesirahle (2} contermptible
(¥ desperate  (4) falthless
Directions (B7-70) : In each of
the following sentences four words or
phrases have been printed in bold.
One bold part in cach sentence s not
acceptable in standard English. Pick
up that part.

[2) particular
[4) chautious

(2] confuse
4] g ine

(2] hide
(4] hinder

87, I [1]/anyone cares to joln (2)/
me in this campalgn, elther (3)/
now or In future, they [4)/are
most welcome.

88, The government indtiated (1)
varkous measure [(2]/to raise (311
the living standsrds (4)/of the
peaple.

68, The reason (1)/for my prolonged
[2}/abeence (3]/from the class
was because (41,1 was Ll

TO. W admired | 1]/his many|Z) fat-
templs bravely (3] to eater (4)/
the burming building.

1 GEMERAL AWARENESS

TL. The 51
narmed
(1) Oclisha (2] Orisa
(3) Oxlisa (4] Orisha
. Indira Gandhi Prize for Peace,
Disarmament and Development
for 2010 has been conferred on
(1) Azma Jahangr
[2] Tony Blair
[ Susilo Bombang Yudhoyono
[4] Lasla Dra Silva
Ta. Match List-1 with List-11
List-1 [Programeme]
1) Ballka Vadhu
{8} Jhansi ki Rand
(T} Y Rishia Hya Kahakata Hal
(D) Jhalak Dikhla Jaa
List-T [Channel)
(1) Zee TV 12] Star Plus
[3) Sany 4] Colours
A (0]
[ 3 E
(2] 4
[ 1 2
M2z 4
. Rapeev Gandhi Scheme for Em-
powerment of Adolescent Girls
named as Sabla’ includes the grls
of the age group
(1) 11 to 18 years
(2) 12 to 18 years
(3 12 to 19 years
[4] 13 1o 19 years
. Contrbution to Prime Minkster's
Rellel Fund enjoys Incoms Tax
benefiLup ta
(1) B0 Under Section 80 - G
[2) 75% Under Sectlon 80 - G
(3 100% Under Section 80 -G
[4) 1008 Under Section B8

Orissa has been re-

T8, Who is the author of the boaok
‘Jinmah arvd Tlak-comrades in the
Freedom Struggle’ 7
(1) A. G. Moorani
12 Jagal 5. Mehta
(3) Jaswant Singh
[4) Lal Krishna Adeani
. The term "Tee' is associated with
which of the following sparts 7
[1] Takle Tennis
[2] Pala
13 Judo [4) Cedl
The Constitution of Indla prevides
for nomination of two members
of Lok Sabha by the President to
represent
(1] Men of eminence
12 The Parsls
1 The Anglo-Indian Comemunity
(4} The husiness community
. In the event of a ministerial pro-
posal belng defeated on the Noor
of the legislature, under the par-
Bamentry syslem
[1) the Government walls for a
general no-confidence motion

[2) the minister concerned |s tik-
en to task by the Prime Min-
isier

(3 the minisier is forced (o re-
sign

4] the whale Council of Minksters
resign

B0. Which of Uhe following represents
the ratio of equity of the REI held
by the Central Oovernment. the
sponsoring banks and the con-
cermned State Government respec-
tively 7
(1] 40 ; 36 : 25(2] 40 : 40 = 20
(3] 50 : 30 : 200(4) 50 : 35: 15

. Which country has World's big-
Eest solar power station 7
1] United States
(2] United Hingdom
(3 Germany (4} Spain

82, The enzyme ma:mguln.u:a milk
into curd is
(1) Renin [2] Pepaln
1) Restn [4] Clarale

83, Capltal of Libya s
(1 Lot [#] Pepain
(3 Tripoli 4] Pula

B4, The Headquarters of United Na-
tisns Environmental Progamme
pre located in
[1] Vienna
(3] Geneva

2] Nalrotd
14} Berne
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B85. The concepd that under a system
af free enterprise. 1t is consum-
ers whio decide whial gocds and
services shall be produced and
In what queantitics, s known as
(1) Consumers's Decision
12} Consumer Sovercignty
(3} Consurmer Profection
{4} Consumer Preference

. Bhiagal Singh, Sukh Dev and Ra

Jgur were executed on

{1} 1928, December 31

12) 1931, March 23

13) 1833, May ©

{4) 1935, August 4

Nuclear explosion at Pokhran

ook place on

11} November 2, 1970

12} December 10, 1972

{3 Febrruary 18, 1973

{4 May 18, 1974

Which one of e fellowing is the

hodiest planst ?

(1] Venus 2] Mars

1 Saturm 3] Mercury

Which city is situated on the

banks ol Darling river 7

(1] Rome, Itlay

[2] Paris, France

[ Sicdnvey, Auistralia

[4) Bristol, LK

Durand line is the important

bBoundary between

[1) China and Pakistan

[2) Pakisian and Afghanisian

[3 Inddia and Pakistan

[4) Indlia and China

Which one of the following Na-

tiomal Highways connects Delhl

anel Lacknow &

(1) NH-8 [2) NH-12

3 NH-24% (&) MEH-27

. Which port is called the offspring
of partitlon” ns 11 was developed
after the partition as a substiiuste
of Karachi port 7
[ Javeaharial Nehm Port
[2) Bandln Pori
[3) New Mangakore Port
[4) Tuticorin Por

. Who among the lollowing was
clottied unapposed as o one clse
filed nomination for the post of
the President 7
(1) V.V, Girt
2] Dr. Zakir Hussnin
3] Meelam Sanjeeva Baddy
[4] R Venkiarazman

0.

al.

M. Accepling the policy ‘a step to-
wards villnge”, Uiion Govermment
Laanctied i scheme, named Bhar
ot Wirman Yojana®. When was this
scheme Launched ?

(1) December 16, 2005

12} Februry 9, 2004

13 November 14, 2004

(4} April 12, 2005

It 5 the tolal money vahoe of all
Merall goocls and services produced
within the geographical bound-
aurles of the country during a giv-
en period of time.

11 GNP 12) ODP

{3 KNP {4) GND

B8, Who has been clected as the firat
female President of Brazil ?

1) Dilma Roussell

2] Marina Sibva

(3 Mamueka Davila

) Ana Marin Rangel

What s the position of China in
Warld Prosperity [ndex 7

(1) 28th (2] 38th

¥ 48th [4) 58th

Match List | with List [ and se
bect the correct answer using the
codes given below the lsis.
List-1 [Mscases]

i) Ceoltre [z Drwnrdlsm

€] Hyperghcemia

(<) Ackchison's syndrome

List-I (Endocrine glands affect-
ed]

ag.

A Adkrenal glands
[®] Pancreas
[C] Pituxitary gland
D Thyroid gland
A B C
4 3
2 3
3 4 3
43 3
Which couniry has becoms the
first Latkn American count Iy o
legalise same-sex marriage, fol
lowing a land mark senate vote
live on natlonal TV ?
(1) Unsguay 2] Mexico
13 Argentina (4] France
100. TRDW is abbreviation af
(1] Train Research and Develop-
mEnl Wing
12 Telecomumumnication Research
and Development Wing
{3} Tata Research amnd Develop-
ment Wing
4] Tabent Rescurce Development
Wing

- R

NUMERICAL ABILITY/DATA
INTERFRETATIOM

101. The remainder when 7 (s dd
vided by 5 is

1 (22

[ 3 4] 4

Let A. B and € be natural

102,
P
numibers such that —

5

. ]

B+ _I'._ . The value af
T+l

A+B-Cis

(1

14 4

The value of

[ + 22z - @aazay

— —llea

22
%) &
103,

(L1 L2212 -3.323)
Betwoen

{1 -0.5 and 0 (2) 0 and 0.5
3o8and ]l (425 and 3.5
Two numbers are such that theis
difference, sum and product are
in the ratio of 1 : 7 : 18. The
product of the two numbers is

1M,

{1 24 2] 27
3 30 (4] 48

108. Thesum | a 3=Ha To =114
13415017 + .ccce + 81 + 63 -
65 Is equal 1o
i1 319 (2) 330
13) 341 14 451

108. In the Ogure, ABCDEFGH is a
regular octagon. What fraction af
ils area is shaded 7?

A B
I o
Li [ 4]
FoE
e 2 5
3 4
@ 5 T

107, In the fgure there are tweo rect-
angles ABCD and DEBG, each ol
length 7 em and width 3 em. The
area of shaded reglon. in em®, is
approocmnt ely
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{1z 2§ 10
(3 & 14 4
I the aren of a square inscribed
in @ circle I3 15 em®, then the
area of the square Inscribed ina
semicircle of the same circle, In

08,

e, i
ms 26
%75 4 J50

108, Diameter of a cylindrical jor Is
increased by 25%. By what per-
e fvusl the belght be decreased
=0 that there is no change in s
walumes 7
(1) 18% 12 20%%:
(3] 32% 4] 36%

110. Four numisers are writtem in a

o, Thee average of frst Bwe -

beera is 7, the average of the mid-

dle two terms s 2.3 and the av-

erage of the last two numbers is

8.4. The average af (irat numbser

and the last number is

(1) 5.9

(2 10T

(3 131

B cannol e determined

MMrections [111-115) : Study the
graph given below and answer the
guestions.

Dzaes [ 2009

{onReak
R

-
o

iin lakh

Pl LAE & Pl o
3
o

Compan s

111 What Is the dillference between
average production (in lakh
tonmies) of paper of ihe six com-
panics in 2008 and ANErAgE pro-

tuction of the same: companics

m 2007 7
(1853 12) 8.73
3907 4] T.86

112, The percentage increass in pro-
dution by comparty B fromm 2008
1o 2009 |5 approximatchy
=7 1282
a9 4) 182

113. Which of the four companies A
B, C and F has recorded Lhe
maximum percentage growth

freon 2007 Lo 2008 2
mnma @B
mo [ E

114. Production of compsary C In 2008
and procuction of company F in
2007 together is what percent of
production of company D in
20067
(1) 108.73 2 12567
13 142.76 ) 146.67

118 Inwhdch of the following pairs of
companies the dillerence be
tween average producion for the
years 2008 and 2008 is mini-

(i) 1

(1] Aand B [2) Band C

(HBand D [ Eand D
118, Unit's cighl in 13 |

[ (33

@7 (4] 9

117, 1M (6% + 6% (6™ - 67 = 34 87 -
J4E® then valus ol A+« B s

1) 30 (2] 40
[3) GO [4) 80
118. Define the operation * as A * B

A+2B
= —:j— . then the value of

Ii4 *71* 81 - |4 * 17 * 8)] is

5

(o =] -
9 29
ki ] 4] 3

118 Which is the largest ¥
(1) 1o i 2"

(3 s~ 4] (4%

120. If (2 =1) = 6B a 1947GTIS,
wihete @ la any digil, then the
vahee of o is
(-1 [

131 5 7

When one litre of water 15 added
to a mixiure ol acld and water,
the pew mixune contains 20%
acik. When one litre of acid is
added o the new mixtiure, then
the resulling mixture contains

121.

1
335“' acid, The percentage of

acid in the oniginal mixiure was
(1) 20% (2] 22%
13 248 4] 25%

123. A person bought B4 articles and ]
sold 800 of Lthem for the price he
padd for B64 articles. He sold the
remaining arifcles at the same |

123

124

12%.

129,

128,

price per article as the olher S00.
The percentage gain on the on-
Lire bransaction s

110 7.5% 12) £%

I3 &.5% (4] 9%

Suppose x and y are inversely
praportional and positive. Ifxin
creases by 108, Lthen y decrens-
o by

10
(1) 10M []] I—I-"ﬂ

1 |

R . ] L

Bl ] 4l T

There is o hill behind a person’s
house. He walks up the wop of

1
the hill at & speed of | Y e heour,

|
bt walks down i al 4'2#1!.!'

hour. I it takes him G hours for
the entire journey. the distanoe.
In ke, from his house 1o the top
of il hill is

1

P (216

(K] Gj 42

A certaln number of persons can
complete & work i 100 days, I
there ke 10 persons bess, i would
have tnken 10 days more for the
work 1o be completed. The num
ber of persons in the beginning
wis

[y 80 2y 105

(3110 ) 120

Let xc s an odd natural number,
i % i= divided by G, I leaves @
remmbider o B F i divided by
4, It leaves remainder of &
Which ol Lthe lolbwing masst be
true for 23

Me=3 Zz=5
Hz=l 4] = ks even
When a number is dividbed by 2,
3. 4. 5 or . remainder in each
case i= 1. Byt the number Is ex
actly divisible by 7. Il the nem-
ber lies between 250 and 350,

the sum of digiis of the number
will be

1) 4 125

7 4) 10

Given the Aumbers = 3998, g
G These can be writien in as-
cending order as

[1) 22, g e

m suu_ :L‘..'.!._ Gu?t

e —
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) 2%, gum, g
) 6, 3=, 3R
120. *The prime number 1950 can be
written as o - b, where aand b
are nalural numbers. Then the
walue of a® « b is
(1] 1988000 (2) 1998001
(3] 1980000 (4) 1999001
130, HCF aof twa numbers each of 4
digits 15 103 and their LCM s
19261, Sum of the numbers is
[1) 2884 12) 2488
[3] 4288 ) 4882

ey

1] gg 233

13 ELE‘I 4] ?"_23‘_1
132 mwheo{,ﬁ,. ] f,||2..,||'§I.u

1 Ja i 6
(3 25 M) 23

| P G 1 |
133 0 =ttt

1 1 1
56 Eﬁ.ihm value of = I

closeal o
1.1 21
13 0.5 ) 0.8
134, The expression 64°" x 329% s
equal Lo
s 12} 24
3132 {5} G4
138, The number of 2eros in the value
of (10Pe=1) ks
(b 99 2] B8
131 51 (4] 49 i
138. A sum of money al simple inler
eal amounis (o Rs. 14,060 in 3 |
vears. If the rate of interest i |
Increased Lo 25%, the same sum
amounts to Rs. 14,700 in the f
aame Uime. The rate of nteres? is

1) 5%
13) %

1
2} 5;%
[4] T8

DHrections (137 = 140] : Read ihe I'nlkm‘in.g Labale and answer qucsiions.

City | Percentage population

below poverty

Ratio of total number of mades (M) and
fermides [F]

Below poveriy line

Abowve poverty line
M:F

137. Ilthe population of femabes below
poverly line in cliy D (s 24000, !
then the population of males |
abowe poverty lne in that city is:

1) G2400

[2) 70000

(3] 83600

(41130000

If the total population of city A ls
00000, then the difference afl
number of males below poverly
limse anel rumber of females abaove
poverty Hne En this city is

(1) 54000

12) G400

[3) 74400

4} 93600

138, Il the toial populnilon of ciiv B
and elty C s SOO000 aned 0000
respeciively. the ratlo of number
of fermales below poveny line in
B and C Is

(1) i : 21

(2) 28 : 35

Ma: 7T

W76

140. If the population of males below

— ANSWERS =

L. 2

2. 131

3. 11}

B. (4]

8. 2]

8.1

10 1)

AT

13, 4]

14. (1]

17. 13

18 41|

2L, (2]

2. (4

28, 14)

1L 03] 12
15, (3]
19,111

268, (1)

33. Bl

AT T
s

G, [4)

&7, 13

7L (1)

K

75 [

TT. 4}

7O [4)

AT

&3, 3

B5. 4]

&7, |4)

|89, 13) |
9309 | 84
|97, 11

101 43

102. 2

i| oo

95, 3|

l(ﬂ--i-il

oL |

l.ﬂﬂ. H
104 2]

108. 4]

106. 141

7. 11

108, (2]

109, [4]

120, i3]

114 )

113, 13

114. 12 |

118, 4]

A9 1218, i
) [122. 6

1263 1
) [130. 111 [ 13

118 2

123, (3|1
127 (1] 1:

12 (1)
218, 13
120, |:|

poverly line in city F is 32000
and that in city E s 39000, then

what pereent of tetal population |

of E is tolal population of F 7
(1) 90.26%
1Z) B2.05

13 71.45 4] 61.54
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